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Spec Data Reading

.Sif reader from Josh

Raw data i1s a 2d matrix

- X: wavelength

- Y: Space (from grating)

From calibration data:

- lambda[X] = arrCal[O]+arrCal[1]*X+arrCal[2]*X**2+arrCal[3]*X**3

Note that Ot array would have the highest wavelength, so
the image should be flipped



2D Matrix
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Exp Data vs. NIST Data
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Line 826.4522
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Shift Exp Data
and overlap with NIST Data

|
Jb \Jll
I T T T
780 800 820 840

DDDDD

PJ g
2 2
= o =
I I
=
Pod o
=
—
b |
L_%—i
"L
—
=
o
(=]



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6

